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In [1]:

import numpy as np
import pandas as pd
import matplotlib.pyplot as plt
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In [2]:

def f(p, a, b):
return pxa / (pxa + (1-p)*(1-b))

In [3]:
a, b=20.75 0.99

In [4]:

plt. figure(figsize=(5,5))

p_range = np.arange(0, 1, 0.02)
plt.plot(p_range, f(p_range, a,b))
plt. xticks (np.arange(0, 1.1, 0.1))

plt. show()
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In [5]:

plt. figure(figsize=(5,5))

p_range = np.arange(0, 1, 0.02)
plt.plot(p_range, f(p_range, a,b))
plt. xticks (np.arange(0, 1.1, 0.1))

plt.hlines(0.5, 0, 1, color="orange’)

Qut[5]:
<matplotlib.collections.LineCollection at 0x23357008520>
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In [6]:

plt. figure(figsize=(5,5))

p_range = np.arange(0, 1, 0.002)
plt.plot(p_range, f(p_range, a,b))
plt. xticks (np.arange(0, 1.1, 0.1))
plt.hlines(0.5, 0, 1, color="orange’)

plt.xlim(0, 0.2)
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In [7]:

for p in np.arange(0, 1, 0.001):
if f(p, a, b) < 0.5:
p = p+0.001
else:

print (p)
break

0.014

In [8]:

# RE
£(0.013, a,b), (0.014, a b)

Out[8]:

(0. 4969418960244646, 0.5157170923379173)
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